TR 2 2 FEMGEETE

(B4L: {8, %)

- . THRREE|TRAEE| 2 3 | ® @ =

FTE % (A) |GHE %8 B) [ (A-B) (C)](C)/B) x100

- - ®m & & &
1— & & £ =T % 14, 985 18,186 | A 3,201 | A 17.6
2N B B E B B F £ 1,283 1,532 | A& 249 | A 16.3
3% E O/ B T % 321 32 | A 51| A 13.7
4 BE - BUGRSERESE 5, 062 5974 | A 912 | A 153
M % % % & K % % 1,622 1,023 | A 301 | A 157
2 # % & # W B 249 291 | A 42| A 144
3 — & K E B L B 1,054 1,243 | A 189 | A 152
4 — & # B % B % 1,537 1,817 | & 280 | A 154
(5) M (— #E B E L H) 600 700 | A 100 | A 14.3
5— & B @m =T ¥ 23, 251 27,057 | A 3,806 | A 141
1 — 1 4,791 5328 | A 537 | A 101
2) # = F M 600 844 | A 244 | A 28.9
3) B P st % 1,039 1,22 | & 18 | A 150
4 # A B B % 8, 621 10,163 | A 1,542 | A 15.2
G |\ & # B 8, 200 9,500 | A 1,300 | A 13.7
6l M K UGB B RESEE 3,133 3,116 17 0.5
(1) 5B i st % 433 4718 | Ao 45| A 9.4
2) @ B st % 2,700 2,638 62 2.4
TAHARETRESEE 516 607 | A 91| A 150
847 B ® E # & 3, 200 3, 200 0 0.0
9 S 200 100 100 100.0
5 51, 951 60,144 | A 8,193 | A 13.6
—a B & % &

1 K & = % 3,535 3,510 | A 35| A 10
2T % A Kk ¥ F ¥ 233 20 | A 56 | A 19.4
3 % & S % 2,698 2,564 134 5.2
LE S E X - H R B ¥ 61 36 25 69. 4
5% & B # = ¥ 515 550 | A 35 | A 6.4
6 MIiREL - N EY—EREE 2,779 2,414 365 15. 1
THEEE - L BB E S 934 128 806 629. 7
s % B % T % 1,459 1,339 120 9.0
OoF Kk B =T ¥ 12, 500 13,494 | A 994 | A 7.4
108 * = o it F % 42 130 | & 88| A 67.7
5 24, 756 24,514 242 1.0

& 5 76, 707 84,658 | A 7,051 | A 9.4




(BGL - fBM. %)

- . THR2EE|FRAEE| 2 3 | 8 R =
STE % (A) |5t E % B) [(A)-B) (C) () /B x100
=N B £ £ & #B & 300 - 300 e
B By Bt B X = OI& 77. 069 51, 486 25 583 49.7
A E B O F 4 (& 4900 5700 | A 800 | A 140
ABEBoOoFTE=EsSHE2E | 1185 1.819)|a 634)|ca 349)
" " ¢ 1,185) ¢ 1,819)](a  634)|(A 34.9)
i 158, 976 141, 844 17,132 12. 1
m|lg & £ s 9| 134939 | 118 329 16, 610 14.0
z REELSHEZH 24,037 23.515 522 2.9
g £ X &»

2 g & & 64. 980 57. 670 7,310 12.7
B B OB & & 2 43, 390 39, 340 4. 050 10.3
MAANEARSBBEES 21,590 18, 330 3, 260 17.8

(B0 %228 2)| 1.185)] 1.819)]a 638)](a 34.9)

B i = & & 93, 996 84,174 9,822 11.7
0] 15 2 = 43. 000 36, 700 6, 300 17.2
2T =% B = 50, 996 47, 474 3,522 7.4
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1 BESERNES, AESAGRIRESRVBAECEEMABREEDMHESRRE LEEZDMHR
ELTRTTHERE

2 BEERDOERFEITISAICEVTETI HERE

3

4 HMBBLEARLIRTIIBLERERHIE

WABRFORBRAELS LGB ERICEVNTRITT SRIRMAETAR
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1 BEHHEBIOFR21EER BT, SHEHICHRIETH D,

2 EOFHEZFEAESED( B A ERERIEREAE. KEBREELENEDFHEEFITE IS
BHEZMRETHLDTH>THETHS.




